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Note:- This paper contains two parts- Part A & Part B
Attampt all the questions. All questions carry equal marks.
This paper carries negative marking, 25% marks will be deducted for each wrong

answer.
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PART- A (WORKSHOP CALCULATION & SCIENCE) {(Marks: 75)
Choose the correct answer: : il
A Marks 3| 1 Marks :3
S1 unit of time is.... = AT w s aEw b
A day A &=
B hour B HZI
C minute c e
D sacond D #vz
-2 Marks 3| 2 Marks .3
Unit of length in C.G.S. System is.. e AdamwceswRa
A Kiomete A
ER gty B8 ¥
S ¢ i
D metre 0 m
V3 Marks ;3 3 Marks -3
Canvert 10 inches into mm 10 30 B & =
A 254mm A 254mm
B 254mm B 254mm
C 254mm C 254mm
D 2540mm D 2540mm
A Marks :3 | 4 Marks :3
Which ane of the following is ferrous metal? ﬁmtﬂammqt?
A Aluminum A
B Brass B daw
C Lead c #ar
D Pygiron D & 3rRa
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7 sl s Marks :3
In which property, the metal retains s ""‘Wmﬂ* *m“ E'“m' **“,E
onginal shape afler the applied force Is ::Ra Ulq ‘(& b
released? m’?

A Elasticity : ar
B Tenacity c N

C Bnttleness D g{:’d'l
D Hardness

6 Marks 3 | 6 Marks :3
Which one of the following will conduct ﬁna;?ammgawmw
alectricity? AT

: Porcelain A DEEH
Graphite 8 AWHT

C Rubber cC W

D Wood D &9

= 4 Marks :3 | 7 Marks 33

Find the number : - = X USSR
missing o o= o™ T
A 4 A 4
B 55 B 5
Cc C 66

0 77 D 77

8 Marks:3 |, Marks :3
WNWOJZHOW mondh*w ......

P 16
A —
25 25
17
8 — 8 ’_Z
2: 25
1
25 ° 25
19
o 3 1
25 > 25
9 oy Marks :3 | o Marks :3
Dtvbc;.-.; 22 wmymea k..
4
1 1
A 22 A 2
3 3
8 2, B 2;
5 5
) 2= —
c - c 23
7 7
D 2- 2—
3 = 8
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10 kg Marks 3 10
weight is equal to., ..
A 9B10N " ;’;Oﬁ:ﬂmﬂmmmt.._n
o 8 981N
G S C 881N
D 981N i
M Marks 3 .
ik 7 e, HATA Bl 8, G T 0
‘A volume A <3
B force G
C weight B @ &
[} C WR &1
e D HI%H &
x12 Marks ;3 | 12 Marks :3
The main difference between density and W'WW*WH
specific gravity is its.._.. a3 <o
A mass A =AW A
B umit 5 lmu*t
C  weight c ¥R
D volume D ¥Ew A
13 Marks:3 | 13 Marks :3
Value of V0.0121 is...... Voo121 & A B
A 00011 A 00011
B 0.011 B 001
.C omn cC on
D 110 D 110
714 Marks:3 | 14 Marks :3
Square oot of 4761 is equal fo... ﬁmw{amaam-m
o A 46
" = B 59
& N c 89
D 72 D 72
718 Marks :3 | 15 3
J8+J3-2)7 soqualto....... gc&-zﬁM#ath
a4 A 1414
B 1732 gy
C 1885 C 1.865
R 3k D 1824
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m. E i mmm g5
i . E E £
R I Fle 8
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‘22 Marks 3 | 22 Marks -3
Calculate 250 gm of 5 kg in parcentage. 5kg & 250 T, Siawa & g
A 5% A 5%
B 10% B 10%
c 15% c 15%
D 20% D 20%
~23 Marks :3 | 23 Marks :3
The rate of doing work is called................ FEFA NS wgr A L
A energy A 35
-B power B wf@a
C work c wd
D speed D UF
24 Marks -3 | 24 Marks :3
SI unit of energy is _ = A & 55 w1 51w £
A newlon/second A w
B watt-hour B are-wer
C joule c I
D newton metre D m
25 Marks :3 | 25 Marks :3
One metric HP = ... ... e & @ 1 ARw v fFad o
A 550 watts &7
B 7355 watts A 550 watts
C 746 watts B 7355 watts
D 1080 watts C 746 watls
D 1080 watts
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